HALDEN S 70 INSTALLATION
DRAWINGS

L

1
\
\\

»\\ l

|

S
[ 4]

i

PSS




HOUSE: HALDEN S 70
POS. DESCRIPTION NOTE PCS. | PROFILE | LENGTH
AR4  [IMPREGNATED FLOOR FRAMING 1 | 45x95 | 2914
AR3 |IMPREGNATED FLOOR FRAMING cuTouT 1 | 45x95 | 2014
AR1  [IMPREGNATED FLOOR FRAMING 10 | 45x95 | 2000
AR2  |IMPREGNATED FLOOR FRAMING 1 | 4570 | 2000
PL-1 |FLOOR BOARD 18+2 | 24x112 | 1965
KL-1 [ROOF BOARD 3143 | 24x112 | 2728
SL-1 [CEILING BOARD 18+2 | 14x111 | 2013
TL-1 |IMPREGNATED TERRACE BOARD 1742 | 28x120 | 800
TL-2 [IMPREGNATED TERRACE BOARD 1 | 28x120 | 2118
PP-1 |FLOOR/CEILING/ROOF MOULDING 1141 | 15x55 | 2100
DL-1 [SPACER 4 | 15x55 | 1996
R-1 |BATTEN BEVELLED 2 | 45x45 | 1996
RLT-1 |ROOF EDGE SUPPORT 2 | 45x45 | 3464
RL-1 [ROOF EDGE BOARD 2 | 18x95 | 3000
RL-2 [ROOF EDGE BOARD 241 | 18x95 | 3600
APL55-1 2 | 155 | 1762
APL95-1 2 | 1895 | 1670
MOULDINGS FOR 845+845x1792 WINDOW 1SET
APLO5-2 2 | 18x95 | 1920
APL95-3 4 | 18x95 | 1887
UPL95-1 2 | 1895 | 920
MOULDINGS FOR 690x1860 DOOR 1 SET
UPL95-2 4 | 18x95 | 1890
UPL-1 [EXTRA MOULDING 2 | 18x95 | 2400
DESCRIPTION NOTE PCS.
. |EXTERIOR DOOR WITH WOODEN FRAME 70x690x1860 1
2 |WINDOW 70x845x1792 2
&)
z
2 |DOOR HANDLE SET FOR EXTERIOR DOOR WOODEN 1
S [FixiNG POST (TL1) 1860MM 2
®  [FixiNG PosT (TL-2) 1792MM 2




HOUSE: HALDEN S 70

DESCRIPTION

NOTE

PCS.

COMPONENTS

BENCH MODULE 600x1992

BENCH MODULE 400x1992

BENCH SUPPORTS SET 45x45 (560-3PCS, 500-1PC,

452-2PCS, 375-2PCS)

ADDITIONAL VERTICAL BENCH SUPPORT 45x45x1000

ADJUSTABLE

OUTDOOR BENCH 563x750

GRID WALL 650x1711

3MM SLOPE BOARD

1996 MM

6MM SLOPE BOARD

1996 MM

9MM SLOPE BOARD

1996 MM

12MM SLOPE BOARD

1996 MM

Rl |Rr|R |~

INSULATION SHEET 30x600x1200

ALUMINUM TAPE

20M

WOODEN VENTILATION LOUVER D100

METAL VENTILATION GRID D100

DRAINAGE 2000+

OPENS RIGHT

SPRAY FOAM FOR DOORS/WINDOWS

Rl N|N




HOUSE: HALDEN S 70
POS. DESCRIPTION PCS. | LENGTH
KL1 |THREADED ROD M10 2 2490
KL2 |[THREADED ROD M10 2 2195
METAL PLATE M10 (40x40x5) 4
LENGTHENING BOLT M10 4
WASHER M10 4
NUT M10 4
DESCRIPTION PCS.
3.5x50 SCREW FOR FLOOR BOARDS 200
3x40 STAINLESS SCREW FOR DOOR/WINDOW MOULDINGS 150
4.2x55 STAINLESS SCREW FOR TERRACE AND ROOF EDGE BOARDS 200
4.5x60 SCREW FOR ROOF EDGE SUPPORT 40
5x40 SCREW FOR SLIDING BRACKETS 10
5x90 SCREW FOR FLOOR FRAMING, CONNECTING WALL LOGS WITH FLOOR 150
., |FRAMING, BENCH MODULES, CEILING INSULATION AND GRID WALL
% 6x180 SCREW FOR PURLINS, CONNECTING WALL LOGS WITH FLOOR FRAMING 20
E  |AND WALL LOGS
2 6x70 DOOR/WINDOW FRAME SCREWS
75MM NAIL FOR ROOF BOARDS 300
40MM LOST HEAD NAIL FOR CEILING BOARDS 250
ADJUSTABLE POST SUPPORT 60x60 1
SLIDING BRACKET 35x35x130 2

WASHER M5 FOR GRID WALL




O==

@

C6L1%X578

Y

C6L1%X578

0981%069

(D)

1

|
|
|
|
|
|
|
|
|
| p—

T

i B

9201

000¢

8ell

NV 1d 4SVd

000¢
8ELL




'sisiof BuissoJdd ou sI3J3yy
usaym ‘sisiol 3)1eded yjim o xi4
'sisiof Buissoud yyim spua Jsiof
USJSBJ 0f SMIJIS (XSG OM} 3s(

———<—

985€=g=V 4eU4 Jaquawa. 'sjeuobelp 333y) igN

(IDYNIVYQ 0LXSY) TYV

S6X5% UNIWNVE4 400 14

74V
%
2 z 2|z Z % 2z
gee || et GEY SEY 9€ % 9€ Y
1347
716

LY
060¢




"1|EBM J34N0 WodJ) 3pISul
ww+z 3q p)noys buiwedy

'sboj 11em Jo mou jxau buideyd 81043q 41 1]14p '810Y OU SI 3J3Y4 | (SMIIA
jnofey ]em uo Ty y4im payJew) spod papeady4 Joj sboy jo pus sy} ul sejoy 3de aday4 4ey4 ¥3yd sboy yem budeid usym

'J3y4o yoes jo doy uo Ay3ybiy sboy aunias oy y201q 41y pue Jawwey J3ggnJd asn AJBSSII3U 4| 'S810Y 1]1UpaLd o) papuswwodal
st }| 'sboy )y Joy smadds (gLx9 pue (sJi) asoyy xiy) sboy yjey Joy smadds ggxg asn bulwedy 400y 04 MoJ JSJi) U3)Se

SHOT TIVM BNINALSVS



Pos Pcs P(rnc::;)le L‘(ar:rgn;h
001 2 A0 2 extra | 1 | 69x136 | 3464
002 - an e 2 | 69x136 | 3464
003 - 2 N 2 | 69x136 | 3264
004 H e Vil tpieceisextra [1641| 69x136 | 2338
005 T e 2 | 69x136 | 2338
006 H 2 il 16 | 69x136 | 2338
007 O a0 =l 1| 69x136 | 2338
008 L A0 i 2 | 69x68 | 2338
009 100 155 WA 009B E{:dkuo"{sf%:;f 2 | 69x136 | 1725
010 ] 1| 69x136 | 1213
011 TR 2 | 69x91 | 690
012 it | 69x136 | 369
013 B 26 | 69x136 | 291
HIT BLOCK 70MM @ 3
POST
P1 e . 1| 70x70 | 1776
PRI - 20 PJRLIN e 2 | 70x145 | 3464




¢ 1M

8¢l

00

6902 |

DOL

-
D

- N

(=)
—+0
-

000¢

800 [

700 [[H

700 || H

700 [ [

700 [[H

700 ||

700 [[H

700 [[H

700 ||

700 [[H

700 || H

700 [ [

700 [[H

700 || H

700 [ [

700 [|H

deb J3A0d 04 1)@ M 3y} Jo 3pIs Jajno LL0O
uo Buipinow ggxg| 3xeyd :jeuoiydg

%00 [[H

vV I1TVM

N 00 I~ WV N F M Ne—

A =~ VW N &+ M N - o
- e = v = = = - -




00

800
010

010
010
010
0L0
0L0
010
0L0
010
010
010
010
010
0L0
700
9

¢ 1M

8¢l

uo Buipinow ggxg| 3re)d :jeuoiydg

d 11VM

_ 6902
69 N L 69, 001
" 140l v 9GL '00Z'

0 L
: i

] Il o gus
H i 20 H[] "
1l H

i A g I
B I Lo 1| ?
8 i 20 [ HI] M

- i |z 2o [HI
u mT (R 710 - 6
I H

u ___ Zlo 1|
- Il AN 1| W
| i a0 [ HI 2
: || w

B 1L o 1L
H Lu L0 H ] *
| ] LT 9
F————___ LT L
JL .
deb J3A0> 0} 1)eM 3Y4 Jo IpIS J3No LL0O M o



8eeC

6907 |
00l 69 Zul 7z 69 ol
T omh_‘ L
[ F
900 | gl
o [H M a0 H| °©
o [ H | o[ H]| °©
€l [H | m €0 [ H | M
ELOL H [l m €10 —
€0 [H | i co[[H] °
eo [ H |l ego [ H| ¢
el [H | ik = ol 51 °
€0 | H | ___ * €0 [ A | N
€0 | H | ___ €0 [ 1 | X
ELO | H [l m €10 —
€0 [H eo [[H] 2
elo [ H ] ego [ H| ®
€o [ H ] go [ H]| ™
L00 [ H H |
900 | H = ] *
€00 ( R - ) Y
200 ( o H ) ¥
deb Jan0> 0} |jem BY4 Jo 3pIs LPS_o uo buipinow ggxg| 3eid :jeuoiydg
100 | H H |

LTIV M



00

=)

8eeC

A
=}

6907 |

(o))
. XV

D01

-~

-

000¢

—1 900

— 900

— 900

—1 900

— 900

— 900

— 900

— 900

—1 900

— 900

— 900

—1 900

— 900

— 900

N 00 I~ W N F M N -

n I M N « ©
- - - - - -

¢ TTIVM



'9JdNn4Nny 9yl ul J1uaybiy o) 91qissodwi 1 9yew pue
poJ U0 SpeaJyj UIinJd ued jI 3snedaq '83Jo) pJey UM yiuadm buiuin) ploAy ‘UOISUS} 9JoW Ppe 0} YiuaJm
9SN uay4 pue sJabuiy buisn poom jsuiebe ynu udny ‘pod uajybiy o] "Jesk e 3dIM} SUOP 9Q UBI |l JIjET]

‘J)INg 4Snf uaaq Sey asnoy Ja}je yjuow AJaaa spod uajybi} o4 papuswwodad si §| 'sboy 11em usamjaq sdeb _1|H|J_
Big ploAR 04 })ING SI 9SNOY J3}J 3WI} 0} 3WI} WOJS SPOJ papeaJdyy Jo ssaulybiy 3oayd oy juejdodwi sty L E
A T
AR - R
| ”
_ _
‘poJd U uoisuad jo jiq 9144 & st aJayfjun | _
inu uayybi] eyl Jo doy uo JNU M3JIS UBYY puB pod O} Jaysem jng g | B !
r Z |
_ = _
| =E= |
_ | [ _
| = |
_ o ke
B I B
'SM3J3s yjim doy uo 34ed |ejaw Uayseq J3UI0d || g B | P il
ut 1oy e Uy 41 4nd pue jjoq bupuaybua) yym spos papeasyy pauuoy 7 L |~ B | | il Bl
| |
BT ]
| |
_ _ i
| o 10
_ ajed 18| _ e
‘a4e]d 1@ 43W Y}IM POJ PaBPEaIYY JIBUUOT | _r |||||||||||| L_

SU0d d4dV4dHL DNINFLHDIL ANV DNDV 1d



'92e1d ul sbuipynow x1} Ay}seq 'sjiem pue

qv i dv _
1 S~ __ S5~ (SapIS }n3 sS0Jd) pJeoq Joo)} usamjaq deb wwgz.
A LA L L 4 9AB37 ")13M se deb wwg sI 3J3y4 3Jns Iyew pJeoq
A jsey buigjny uaym pue )jem wodJj wwg. padeyd
3Q pjnoys pJeoq 4sJi4 ‘pJeoq 3y} jo apis anbuoy
SPJEOQ J00)} U34SEed

'U0I}I3UUO0I YIBD Ul SMIJIS OM)

UiIM SpJeoq 3IeJJ3} Uu3jseq
Yl WOJ) SMIJIS YlIm

5961
//
L= 1d = o2 SN
I 'sbuipynow 400y yjim Ajyusuewdad 41 x1y spleoq
= -1 - J00)} buideyd Jsy)y "JaiEM JO) |1BM J34NO SPIEMO]
" 3do|s asjuedenb o} pus pauado ueyy Jaybiy wwg.
o Ariedodway pus paso)d xi4 ‘sbeuiedp buided uaym
S | | B | .~ =0 i f
5 3 3 3 S :

'spJeoq Joo)} buixi} aJojag syeyap
obeuledp pue spueoq adols ppy

Sddv04d Jd00 14



L=y

'SMBDS GGXZ'H YlIM X1
pue yjbua) o} spueoq
abpa 9)qeb  yny 4

8L

SJdv04d 4004

'SM3JS GGX7'y 3sn spJeoq abpa
Jo4 "juoddns sbpa xi1j o (buipus pueoq
J3y}o AJ9AS J0J 3UD) SM3IIS (9XG'H 3s
'‘pJeoq pue jJoddns 3bps joous usjseq ¢

\
=\

b
A
-

2

iy ~ g § B iy

'(U0I423UU0) Yoes Joj sady) mﬁMc
Wws/ Ydim spleoq jood Xxi{ 7

X
=

_
_

— "

_ | _
| \\\_
_

_

|

I

S R U S A |

© [sajoy padd)
SM3JIS (8L X9 ytbim sunand xi4 |



=

N\

r
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
L1 __

) a4
Nem o4 A1Ja3J1p pamadas 3q ued buip)now \W\ x
wojjog ‘wwq|, 4noge aq pinoys abedsarod ‘3wed)
buipijnow  BpIS  'SMIUIS  OHXE  ULIM Ul sajoy wody jsod bBuixiy o} smaJuds awed)
jsod buixiy o} sbuipjnow apis uayseq g 0.x9 buimadds Aqg sde)d ur mopuim/Joop Xi4 ‘7

'BWeJJ JO Ww(z 4noge JaA0)
pijnoys  buipjnow  uaddn
'SM3JIS  SS3juIels 0YXE
U4m  (mem o4 jou) ouwedy
04 buipynow Jaddn uayseq 4

—A2A

'9]1443S ued asnoy Jjeyy os 4Jed Jaddn ul
M3J2S Jou 0( ‘(wo}40q woudy wwggl 4noge) ysod
9y4 JO JJed JaMO) Ul M3JIS ()6XG auo Ajuo yiim
11em o4 }1 m34ds ‘buiuado ur ysod buixiy 9deyyd |

SMOUNIM/S4000d DNINALSVA

JTITTTTTIT ]

|




01

£-961dV

1-S671dV

1-691dV

€-961dV

0z!

0Z6l
SONITTNOW

L88l

N\
N\
N\
\
N\
N\

N\
N\
N\
N\
N\
N\

N\
\
N\
N\

N\
N\

% V4

N\
N\
N\
N\
N\
N\

COLLXST8+5T78X0L MOUNIM

SYUNIT TNOW MOANIM /74000

ONIATINOW ¥0014

- s ]
£-5671dN

O | 1-567dn

0z~

0Z6
SDONIATNOW

068l

N\
N N\

7

N\
\

N\

V4

098LX069%0L
4000 40ld31L X4




“ 1
| | | ‘S)leu peay 4so) buisn Jsyawilad punouse
| F— sbuipynow usjsey Apeury ‘(uoiyauuod Ydea J0J S)IRU OMY)
) i —r — S)leu peay }so] yjim suadeds uspun spdeoq bunied xi4 4
_I - I_ }93ys _ [———[ [T~ ——————————— -——
_ _ uoljeInsuy| _ _ _
- | - — | |
I — ! "
| | I |
— ! |
_ L == )
| '92e1d ui Ajuadoud sieays uol4e)NSUI 3JNIBS 0}

SM3JIS (6XS YdIm sunJand/suajtieq Japun sdadeds uajsed g

r——-—

H pJeoq bunia) L]

H Jaoeds H |

| H }33ys UoljeINsy| all L

—| Uo44eq/UllINd iz ‘ade} WNUILNIE Y4im J3}3WIJad pue sWeas Uol}dauuod ‘'sjaays

= B ur sajoy mauds ade] ‘(adejd ul s}aays pjoy 04 sdajys snolrzud wody
SM3.3S J3A0 4J3] M3 asn) suljund Japun s}33Ys UOI}BNSUI 3IB|d 'Z

r--r-r-rr-———~——~~"~"~""~""~""""""™"™"™"™/'"™"™>>"”/"™"/'"/'"/T"//"/'"/"/—'"//"/7/"/"7/"7/"™—™/"7™7 -7

|
|
~ |
|

/
/
L

NOOd VNNVS NI NOILVTNSNI ONITIF) SM2US 06XS 35N SUNNG UIm Ul Ul 3.8

A3y} jeyy os s)jem apIs o} (L-Y) Suajjeq uajsed |



"}JIYS Yauaq pue yiuaq Jamo) uaam}aq deb wuwg aq
‘om} dajs u| paqliisap pINOYS 343y ‘I)PPIW Ul YIUIQG JaMD] O} pue S3IPIS
se ?e)d u; }I xi} pue anpow Jaddn 3de)d 4 wouJy 1M 04 4l yoej4e ‘saejd u Jaiys yausq 4417 €

"}3S Ul 4J1¥S Yauaq S| 8J3y4 IS Ul INpow ‘uol}d3uuol Jabuouys
Jaddn jje4sul jou oQ ‘s;jem a3y} uo sjsoddns Joj jJoddns pue jjem uaam4aq anib asn ‘jjem
3y4 04 wayy xij pue 3deyd ul s3Npow 417 ¢ 04 SM3JIs y}im sjuoddns yiuag uajseq |

‘abed jxau ayj uo punoy aq ued sayiuaq pue sjtoddns yduaq Joj syybiay asadd ‘(4414
youaq ou s| aJayy jl Ajdwexa Joy) 43s 3y4 uo buipuadap sdajs ayy jo awos diys U NOA "SIINPOW YIUIQ JO} [BNUBW |]BIIAD UR S| SIY]

S41NA0W HON49 BNINJ LSV



o 1sod
——— (0§ J.J0ddng
c====1 GL¢ .T_om_m_:m
——— (9¢ JJoddng

0€8

_ m
_ _

_ _

| |

_ | _ 'sjJoddns jearya3A ay4 Jjo jybuay syl
] | s se jybray awes sy} 4e paxiy aqg 4snuw jsoddns yauaq
_ _

_ _

_ _

_ _

_ _

_ _

[ |
I
898

JoopinQ '93uadJajald umo Jnok oy buipsodrde padeid aq
Ued JI 'PaxI} JOoU SI 1|BM 3YJ WOoJ) 3)NpoW Jamo) 3yl Jo
9JuelsIq ‘sjJoddns paxi) ApeadJie 0} sayiduaq xij o) pue
s)1em o} sydoddns youaq U3}SB) 0 SMIJIS (XS IS

SA1NUOW HINJd 40 LHYIHH ANV WO0d VNAVS 40 NOILJ)45-550d)



'SpoJ papeaJdyy _ —e _
buiuayybiy se swiy swes ayy Je 3uop 3aq pinoys buiysnlipy 'ajeyd ysuiebe yoeq jnu | |
UdN} U3Y] "31449S UBD 3sNoy OS 4IG 3)441] © 4Iem pue jsod Japun 4nu uasooq 'sboj jjem | |
usam}aq sdeb aqg y)im a3y pue 4sod Aq pajoddns aJe jey} syted ayj jou §ng '9)443s | |
1IM 9snoy IsimJay4Q ‘jJoddns ysod jsnfpe o} Auessadau si 4 y)ing st asnoy oy | ] |
"11eM p1db woud) JuaJay)Ip aA0W o) asnoy 3yl 3)qeus o4 Jybiy ooy madds syl xi} Jou ////
0(] "JIPI)S PUB M3JIS US3M}aq Jaysem gy 4nd ‘11em piub Jo apIs ay4 uo JoIS B y4im 3pIs N
9y} aAea] 'sbo) 11em o} Japns uayseq asnoy o4 nem prab xi) oy siaydedq buipns asn ///
e G owens | e
_ _ _ Jaysem g _ FHL
m =Y/ /! I it
_ | | e £ _ L E—
_ | _ (¥ T _
_ - 4 _
I S A L R d
=1
51 4
'SM3JIS 06XS Ydim ysod o) A14a341p 11em piab yoeyy \\\\\\
ettt Rt i R 2 1 g prad
4 1
.
_ | e | 7 :
WY el _
77 A J

S1SOd UNILSNArAY ONV STIVM Qldb UNINLSV S



	5.pdf
	6.pdf
	7.pdf
	8.pdf
	9.pdf
	10.pdf
	12.pdf
	13.pdf
	14.pdf
	15.pdf
	16.pdf
	17.pdf
	19.pdf
	20.pdf
	21.pdf

